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@ t TTE three decimals, order of operations with brackets

Name: Date: Score:
(17-10)+5= 4,3(2,5-6,5) =

(20,1 +8,1)+3= (2,8+5,3)x2,5=

(16,2 +34,2)+ 6= 5,74,6 —4,3) =

(6,2—12,4)+2= 3,2(5,4+5,8) =

(2,4-6,4)x6,6= 6,5(6,1-6,5) =
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k) | 0 3
CC . : :
@ t TTE three decimals, order of operations with brackets

Name: Date: Score:
(17-10)=5=14 4,3(2,5-6,5)=—-17.2
(20,1+8,1)+3=94 (2,8+5,3)x2,5=20.25
(16,2 +34,2)~6=84 5,74,6 —4,3)=1.71
(6,2—-12,4)+~2=-3.1 3,2(5,4+5,8) =35.84
(2,4-6,4)x 6,6 =—-264 6,5(6,1 —6,5)=-2.6
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